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Reviewing for Midterm/WP#1

Compute dy/dx = 4 /
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Find an equation of the tangent line to f{x) = cos(x) at x = }E

Sketch f'and its tangent line from above.
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35. If the minute hand of a clock has length r (in centimeters),
find the rate at which it sweeps out area as a function of r.

Looking at the answer, they're actuallly looking for a rate with
respect to TIME.
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Not sure you'd get this without a better-worded question.

Clearly by the book answer, this was what was intended.
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44, A lighthouse is located on a small island 3 km away from
the nearest point P on a straight shoreline and its light
makes four revolutions per minute. How fast is the beam of
light moving along the shoreline when it is 1 km from P?
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Use a tangent line approximation for \FE:—
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Use a differential to approximate W
= wo‘i Ax= ¥o=¥ = 9§=100 =-5 =dx
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